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1. BEREE:
KRB S] : 760.3mmHg AR :2352°C  HHH : 107/03/30
R 1270 RPM  EER 110V BR :5A EAIZLER : 0.9 kW

== OH R FEER Psl v XEBR Pyl v B Ah=Py(=P1-Ps) / v
(mm J&HE) (mm JRAE) (mm JRAE)
1 3.2 16 12.8
2 3 15 12
3 3.1 14 11.9
4 3.2 15 11.8
5 3 16 13
6 3 15 12
7 3 15 12
8 3.1 16 12.9
SZEEE 3.1 15.2 12.1
2. FTREEE:

P 7603x13.6x9.8

- — 1.191(kg / m®
PZRT ~ 287 x (273+ 23.19) (kg /")

ER=ARES)ETRES

_[2gAn \/2*9.8*12.1* 0.826
p 1.191

V, =12.8(m*/ min)



=0.022(kw)

SR ZESREN ]
L= P;Q _ 15.2 x 0.826 x 9.8 x 54.28 _ 0.1(kW)
60 x1000 60 %1000
AFERZE sREN ]
L __PQ _0826x31x98x54.28
* 60x1000 60 x1000



3. FIR&R:

EH 1270 920 970 1020|1070 1120 1170 | 1220
RPM RPM |RPM |RPM |RPM |RPM |RPM |RPM

SEH4EER Pl 15.2 6.88 7.5 9.25 10.5 12.87 | 135 12.87
(mm &)

SEHERRR Ps/ v 3.1 1.23 1.55 1.8 2 2.7 2575 | 2.7
(mm &)

SEgENRR /A\h=Pv/ 7 12.1 5.68 5.95 7.45 8.5 10.17 110.925|10.17
(mm &)

ZZREBE 0 1.191 1.19 1.1907 | 1.19 1.19 1.191 |1.19
(kg/m?)

SEgEEE V (mls) 12.8 8.99 11.66 11.8 12.186 | 11.8

E& Q (m¥min) 54.28 40.79 |38.11 |49.426 50 51.656 | 50

BRZERE] Ls 0.022 0.0083 | 0.039 |0.012 0.018 |0.018 |0.018
(kw)

R ZEREN T L 0.111 0.0048 | 0.0079 | 0.061 0.087 |0.094 |0.087
(kw)

MABR (V) 112 50 60 70 80 105 100 105

BAER (A) 4.8 38 4 4 4 4.8 4.6 4.8

AT L (kW) 0.78 0.3 0.3 0.4 0.5 0.8 0.7 0.8

BRZERIBED s 2.8 2.6 2.63 3 2.25 2.57 2.25
(%)

SRR ZE SRR T 14.2 1.6 13 15.25 10.87 |13.42 |10.87

(%)
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273+ 20 (12X082/36)+765X513_ 50.81
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